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Kwb. Oéong: 723
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1 1479215 2 KYPIOZ 18.8 470 2012 150 0 36 120 0)( 0 740 294 1°¢ 1034.000
2 1488683 1 KYPI102 20 500 2021 50 Ko 20 36 120 OXI 0 690 240 1°¢ 930.000
3 1490079 2 KYPIOZ 19.2 480 2011 150 KaAa 20 0 OXI 0 650 0 650.000
4 1483448 1 KYPIOZ 19.6 490 2013 150 0 0 0 OXI 0 640 0 640.000
5 1486053 2 KYPIOZ 19.1 477.5 2013 150 0 0 0 OXI 0 627.5 0 627.500
6 1490223 11 | KYPIOZ 17.66 441.5 2005 15 Aplota 50 36 120 OXI 0 626.5 0 626.500
7 1477331 1 KYPIOZ 18.2 455 2012 150 KaAa 20 0 0 OXI 0 625 0 625.000
8 1484894 | 23 | KYPIOZ 16.6 415 2014 150 0 24 60 0)( 0 625 0 625.000
9 1483777 | 23 | KYPIOZ 18.1 452.5 2013 150 KaAd 20 0 0 0)( 0 622.5 0 622.500
10 1489848 1 KYPIOZ 19.6 490 2010 50 KaAd 20 24 60 0)( 0 620 0 620.000
11 1482478 4 KYPIOZ 17.2 430 2011 150 16 36 OXl 0 616 0 616.000
12 1480859 1 KYPIOZ 18.4 460 2013 150 0 OXl 0 610 0 610.000
13 1490622 2 KYPIOZ 15.2 380 2012 150 KaAd 20 0 0 NAI 50 600 0 600.000
14 1485632 1 KYPIOZ 15.18 379.5 2008 50 0 36 120 NAI 50 599.5 0 599.500
15 1485124 1 KYPIO2 14.9 372.5 2007 50 36 120 NAI 50 592.5 0 592.500
16 1488014 2 KYPIO2 19.5 487.5 2015 100 0 0 0)( 0 587.5 0 587.500
17 1477439 1 KYPIO2 15.9 397.5 1998 0 KaAa 20 36 120 NAI 50 587.5 0 587.500
18 1481490 | 23 | KYPIOz 18 450 2010 50 KaAa 20 25 65 OXI 0 585 0 585.000
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19 1486064 7 KYPIOZ 16.45 411 2008 50 0 36 120 Oxl 0 581 0 581.000
20 1482062 | 22 | KYPIOZ 18.8 470 1995 0 0 33 105 Oxl 0 575 0 575.000
21 1489356 6 KYPIOZ 18.16 454 1996 0 0 36 120 oxl 0 574 0 574.000
22 1487646 3 KYPIOZ 18.9 472.5 2015 100 0 0 0 oxl 0 572.5 0 572.500
23 1484382 KYPIO2 18 450 2000 0 0 36 120 00 0 570 0 570.000
24 1483241 2 KYPI102 17.36 434 2002 15 0 36 120 00 0 569 0 569.000
25 1480706 | 10 | KYPIOZ 14.4 360 2011 150 0 23 57 0)( 0 567 0 567.000
26 1481524 | 17 | KYPIOz 15.72 393 2008 50 0 36 120 0)( 0 563 0 563.000
27 1485521 | 23 | KYPIOz 15.5 387.5 2021 50 0 36 120 0)( 0 557.5 0 557.500
28 1485756 2 KYPIOZ 16.8 420 2010 50 0 29 85 OxXI 0 555 0 555.000
29 1485142 3 KYPIOZ 17.25 431 1988 0 0 36 120 OxXI 0 551 0 551.000
30 1479802 2 KYPIOZ 17.18 429.5 1988 0 0 36 120 OxXI 0 549.5 0 549.500
31 1485786 1 KYPI102 15.08 377 1994 0 0 36 120 NAI 50 547 0 547.000
32 1474403 3 KYPIOZ 17 425 1987 0 0 36 120 00 0 545 0 545.000
33 1483854 2 KYPIOZ 17 425 1994 0 0 36 120 0)( 0 545 0 545.000
34 1485861 4 KYPIOZ 13 325 2015 100 0 36 120 0)( 0 545 0 545.000
35 1489812 | 23 | KYPIOZ 19.7 492.5 2018 50 0 0 0 0)( 0 542.5 0 542.500
36 1488356 1 KYPIOZ 14.27 356.5 2002 15 0 36 120 NAI 50 541.5 0 541.500
37 1487824 2 KYPIOZ 17.33 433 2000 0 0 33 105 0)( 0 538 0 538.000
38 1490203 1 KYPIOZ 12.72 318 2007 50 0 36 120 NAI 50 538 0 538.000
39 1483416 1 KYPIOz 14.63 365.5 2007 50 0 36 120 0)( 0 535.5 0 535.500
40 1489010 2 KYPIOZ 16 400 2002 15 0 36 120 0)( 0 535 0 535.000
41 1488196 8 KYPIOZ 15.9 397.5 2003 15 0 36 120 OXl 0 532.5 0 532.500
42 1477034 4 KYPIOZ 14.45 361 2006 50 0 36 120 OXl 0 531 0 531.000
43 1484783 7 KYPIO2 17.2 430 2017 100 0 0 OXI 0 530 0 530.000
44 1475054 5 KYPIOZ 19.18 479.5 2002 15 MoAY KaAd 35 0 0) 0 529.5 0 529.500
45 1485736 2 KYPIOZ 16.25 406 1999 0 36 120 0)( 0 526 0 526.000
46 1481953 1 KYPIOZ 14.25 356 1996 36 120 NAI 50 526 0 526.000
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47 | 1484139 | 4 | KYPIOZ | 15.63 | 390.5 | 2002 15 0 36 120 | oxi | © 525.5 0 525.500
48 | 1488450 1 KYPIOZ 17 425 2002 15 MoAV KaAd 35 0 0 NAI 50 525 0 525.000
49 1480027 22 KYPIOZ 16.12 403 1998 0 0 36 120 OXI 0 523 0 523.000
50 1480060 7 KYPIOZ 14.9 3725 2014 150 0 0 0 OXI 0 5225 0 522.500
51 1482782 22 KYPIOZ 14.09 352 2008 50 36 120 OXl 0 522 0 522.000
52 1478147 3 KYPI102 16 400 2000 0 36 120 OXl 0 520 0 520.000
53 1486092 1 KYPIOZ 14 350 2010 50 Aplota 50 26 70 OXl 0 520 0 520.000
54 1487726 1 KYPIOZ 12 300 2007 50 36 120 NAI 50 520 0 520.000
55 1474351 2 KYPIOZ 18.72 468 2007 50 0 0 OXl 0 518 0 518.000
56 1489647 8 KYPIOZ 18.09 452 2004 15 Aplota 50 0 0 OXl 0 517 0 517.000
57 1481769 7 KYPIOZ 15.83 395.5 1996 0 36 120 OXl 0 515.5 0 515.500
58 1485171 2 KYPIOZ 15.18 379.5 2003 15 36 120 OXl 0 514.5 0 514.500
59 1480208 1 KYPIOZ 19.13 478 2004 15 KoAd 20 0 0 OXl 0 513 0 513.000
60 1483279 3 KYPIOZ 15.09 377 2002 15 0 36 120 OXl 0 512 0 512.000
61 1484696 17 KYPIOZ 13.63 340.5 2002 15 MoAUL KaAd 35 36 120 OXl 0 510.5 0 510.500
62 1481988 14 KYPIOZ 11.6 290 2015 100 0 36 120 OXl 0 510 0 510.000
63 1486231 KYPIOZ 16.27 406.5 2006 50 0 21 51 OXl 0 507.5 0 507.500
64 1475375 KYPIOZ 135 337.5 2010 50 0 36 120 OXl 0 507.5 0 507.500
65 1487931 KYPIOZ 18.81 470 2004 15 0 11 22 OXl 0 507 0 507.000
66 1488328 2 KYPIOZ 19.63 490.5 2005 15 0 0 0 OXl 0 505.5 0 505.500
67 1487431 20 | KYPIOZ 15.41 385 1997 0 0 36 120 OXl 0 505 0 505.000
68 1485559 3 KYPIOZ 12.6 315 2008 50 KaAa 20 36 120 OXl 0 505 0 505.000
69 1475982 2 KYPIOZ 10 250 2014 150 0 33 105 OXl 0 505 0 505.000
70 1485852 6 KYPIOZ 15.36 384 1998 0 36 120 OXl 0 504 0 504.000
71 1487762 6 KYPIOZ 15.25 381 1999 0 36 120 OXl 0 501 0 501.000
72 1488167 2 KYPIOZ 18.25 456 2000 0 MoAU KaAa 35 4 8 OXl 0 499 0 499.000
73 1485332 22 KYPIOZ 19.91 497.5 1994 0 0 0 0 OXl 0 497.5 0 497.500
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74 | 1477241 8 KYPIOZ 15 375 1999 0 0 36 120 Oxl 0 495 0 495.000
75 | 1475390 3 KYPIOZ | 18.33 458 1992 0 0 16 36 Oxl 0 494 0 494.000
76 1485168 6 KYPIOZ 13.4 335 2011 150 4 8 oxl 0 493 0 493.000
77 1485361 | 24 | KYPIOZ 14.07 351.5 2000 0 KaAd 20 36 120 oxl 0 491.5 0 491.500
78 1484727 9 KYPIOZ 12.81 320 2006 50 36 120 00 0 490 0 490.000
79 1475484 KYPIO2 19.58 489.5 1996 0 0 0 0 00 0 489.5 0 489.500
80 1483003 1 KYPIOZ 11.37 284 2001 15 KaAd 20 36 120 NAI 50 489 0 489.000
81 1488629 | 21 | KYPIOx 14.75 368.5 1997 0 36 120 0)( 0 488.5 0 488.500
82 1477506 8 KYPIOZ 14.75 368.5 1997 0 36 120 0)( 0 488.5 0 488.500
83 1490087 2 KYPIOZ 17.36 434 2006 50 0 0 0 OxXI 0 484 0 484.000
84 1483811 3 KYPIOZ 12.54 3135 2007 50 0 36 120 OxXI 0 483.5 0 483.500
85 1488803 1 KYPIOZ 15.33 383 2006 50 Aplota 50 0 0 OxXI 0 483 0 483.000
86 1482312 3 KYPIOZ 13.9 347.5 2001 15 0 36 120 00 0 482.5 0 482.500
87 1480502 3 KYPIOZ 14.45 361 2005 15 KaAd 20 29 85 00 0 481 0 481.000
88 1475199 3 KYPI0Z 17.1 427.5 2009 50 0 0 0 0)( 0 477.5 0 477.500
89 1476855 | 23 | KYPIOZ 17 425 2002 15 KaAa 20 8 16 OXI 0 476 0 476.000
90 1475916 | 23 | KYPIOZ 16.18 404.5 2008 50 KaAd 20 0 0 0)( 0 474.5 0 474.500
91 1482390 KYPIO2 18.36 459 2003 15 0 0 0 0)( 0 474 0 474.000
92 1484314 KYPIOZ 13.56 339 2002 15 0 36 120 0)( 0 474 0 474.000
93 1476791 KYPIOZ 13.54 338.5 2003 15 0 36 120 0)( 0 473.5 0 473.500
94 1479216 | 23 | KYPIO 13.54 338.5 2004 15 0 36 120 0)( 0 473.5 0 473.500
95 1483265 KYPIOZ 13.45 336 2002 15 0 36 120 0)( 0 471 0 471.000
96 1488192 2 KYPIOZ 13.45 336 2002 15 0 36 120 OXl 0 471 0 471.000
97 1474892 | 19 | KYPIOZ 12 300 2009 50 0 36 120 OXl 0 470 0 470.000
98 1481696 2 KYPIO2 12 300 2010 50 0 36 120 OXI 0 470 0 470.000
99 1479659 4 KYPIO2 17.91 447.5 1998 0 KaAd 20 0 0 0) 0 467.5 0 467.500
100 | 1474764 8 KYPIOZ 13.91 347.5 1992 0 36 120 0)( 0 467.5 0 467.500
101 | 1481695 3 KYPIOZ 13.91 347.5 1999 36 120 0)( 0 467.5 0 467.500
102 | 1479150 4 KYPIOZ 12 300 2012 150 8 16 0)( 0 466 0 466.000
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103 | 1484027 2 KYPIOZ | 16.63 415.5 2006 50 0 0 0 OXI 0 465.5 0 465.500
104 | 1486341 6 KYPIOz | 13.13 328 2004 15 0 36 120 OXI 0 463 0 463.000
105 | 1478860 2 KYPIOZ | 11.72 293 2006 50 0 36 120 OXI 0 463 0 463.000
106 | 1479900 1 KYPIOz 11 275 2001 15 0 36 120 NAI 50 460 0 460.000
107 | 1479694 2 KYPIOz | 18.33 458 1993 0 0 0 Oxl 0 458 0 458.000
108 | 1486537 4 KYPIOZ 135 337.5 1993 0 36 120 Oxl 0 457.5 0 457.500
109 | 1475015 | 18 | KYPIOZ 11.5 287.5 2009 50 0 36 120 Oxl 0 457.5 0 457.500
110 | 1490007 1 KYPIOZ | 13.43 335.5 2000 0 36 120 Oxl 0 455.5 0 455.500
111 | 1475283 3 KYPIOZ 17.4 435 1993 Kothdt 20 0 0 Oxl 0 455 0 455.000
112 | 1490988 | 23 | KYPIOZ 16.2 405 2009 50 0 0 0 Oxl 0 455 0 455.000
113 | 1484821 | 23 | KYPIOZ | 1341 335 1988 0 0 36 120 Oxl 0 455 0 455.000
114 | 1485021 | 24 | KYPIOZ 12 300 2001 15 Kothdt 20 36 120 Oxl 0 455 0 455.000
115 | 1485386 4 KYPIOZ | 12.75 318.5 2001 15 0 36 120 004 0 453.5 0 453.500
116 | 1486436 | 23 | KYPIOZ | 12.72 318 2004 15 0 36 120 004 0 453 0 453.000
117 | 1481685 1 KYPI0Z 18 450 2000 0 0 0 Oxl 0 450 0 450.000
118 | 1485126 3 KYPIOZ 16 400 2009 50 0 0 Oxl 0 450 0 450.000
119 | 1478999 2 KYPIOZ 13.2 330 1996 0 36 120 Oxl 0 450 0 450.000
120 | 1482387 2 KYPIOZ | 16.83 420.5 1989 KaAd 20 4 8 Oxl 0 448.5 0 448.500
121 | 1481670 2 KYPIOZ | 13.14 328.5 1994 0 36 120 OxIl 0 448.5 0 448.500
122 | 1482156 3 KYPIOZ | 13.08 327 1996 0 0 36 120 OxIl 0 447 0 447.000
123 | 1478767 | 21 | KYPIOZ | 12.45 311 2004 15 0 36 120 OxIl 0 446 0 446.000
124 | 1482215 | 18 | KYPIOZ 15.8 395 2009 50 0 0 0 04 0 445 0 445.000
125 | 1486041 1 KYPIOz 11 275 1995 0 0 36 120 NAI 50 445 0 445.000
126 | 1489592 2 KYPIOz 13 325 2015 100 0 16 04 0 441 0 441.000
127 | 1478175 1 KYPIOZ | 15.54 388.5 2008 50 0 0 (004 0 438.5 0 438.500
128 | 1480403 2 KYPIOZ | 12.75 318.5 1994 0 0 36 120 Oxl 0 438.5 0 438.500
129 | 1483666 7 KYPIOZ 12 300 2001 15 0 36 120 Oxl 0 435 0 435.000
130 | 1475931 | 23 | KYPIOZ 12 300 2001 15 0 36 120 Oxl 0 435 0 435.000
131 | 1490153 1 KYPIOZ 10 250 2001 15 0 36 120 NAI 50 435 0 435.000




S | & 5 |3 5125 | ¢ |z |E < | 2| <% =| &z =
S § QE EZ EZ %g égz Ew Ew %2 < 2 |3_: <_’:§ 5% <I:IEI w% g
<| 5 |5|3z2|5E| <5 |E2|358| 0 |=5 |23 |83|¢c |8B| 55 |5k |28 .
<| & |g| 25|88 |38 | 4> |afe| ¢ |8E| S5 |25| 6 |25| 2z |88 |tz =
s | S| E2| g5 | S5 |68 |gER| E= |S=| 22| 2| & |E2| 28 s | T2 o
; o < = W > o D z = S| 2% "" = =
< i @ = F |8 - = < - = W ~
132 | 1479572 1 KYPIOZ 12.56 314 2000 0 0 36 120 OXl 0 434 0 434.000
133 | 1482293 8 KYPIOZ 13.81 345 2007 50 KaAa 20 8 16 OXl 0 431 0 431.000
134 | 1488250 2 KYPIOZ 12.41 310 1997 0 0 36 120 OXl 0 430 0 430.000
135 | 1487690 23 KYPIOZ 12.33 308 1996 0 0 36 120 OXl 0 428 0 428.000
136 | 1481056 2 KYPIOZ 12.25 306 1978 0 36 120 OXl 0 426 0 426.000
137 | 1486430 2 KYPIOZ 12.25 306 1995 0 36 120 OXl 0 426 0 426.000
138 | 1484620 14 KYPIOZ 11.63 290.5 2003 15 0 36 120 OXl 0 425.5 0 425.500
139 | 1485945 KYPIOZ 15 375 2010 50 0 0 0 OXl 0 425 0 425.000
140 | 1490168 KYPIOZ 13.41 335 1998 0 0 30 90 OXl 0 425 0 425.000
141 | 1484614 KYPIOZ 12.08 302 1997 KoAd 20 32 100 OXl 0 422 0 422.000
142 | 1488149 4 KYPIOZ 12.08 302 1998 0 36 120 OXl 0 422 0 422.000
143 | 1489023 24 KYPIOZ 11.45 286 2004 15 0 36 120 OXl 0 421 0 421.000
144 | 1480614 6 KYPIOZ 12 300 1992 0 0 36 120 OXl 0 420 0 420.000
145 | 1483318 KYPIOZ 12 300 2000 0 0 36 120 OXl 0 420 0 420.000
146 | 1485405 KYPIOZ 13.72 343 2002 15 0 24 60 OXl 0 418 0 418.000
147 | 1479228 9 KYPIOZ 11.75 2935 1999 0 0 36 120 OXl 0 413.5 0 413.500
148 | 1476995 10 KYPIOZ 14.85 371 1993 0 17 39 OXl 0 410 0 410.000
149 | 1490077 23 KYPIOZ 11.54 288.5 1994 0 36 120 OXl 0 408.5 0 408.500
150 | 1483583 2 KYPIOZ 13.31 3325 2001 15 0 24 60 OXl 0 407.5 0 407.500
151 | 1474535 2 KYPIOZ 14.63 365.5 2005 15 KaAa 20 6 OXl 0 406.5 0 406.500
152 | 1479286 2 KYPIOZ 15 375 2002 15 0 16 OXl 0 406 0 406.000
153 | 1489784 2 KYPIOZ 10.81 270 2004 15 0 36 120 OXl 0 405 0 405.000
154 | 1490109 5 KYPIOZ 12.36 309 2006 50 0 19 45 OXl 0 404 0 404.000
155 | 1482865 2 KYPIOZ 11.25 281 1994 0 36 120 OXl 0 401 0 401.000
156 | 1487573 8 KYPIOZ 11.21 280 1989 0 36 120 OXIl 0 400 0 400.000
157 | 1475348 23 KYPIOZ 11 275 1999 0 36 120 (0)( 0 395 0 395.000
158 | 1485034 3 KYPIOZ 15.09 377 2005 15 0 0 (04 0 392 0 392.000
159 | 1481386 KYPIOZ 14.6 365 2004 15 0 10 (0)( 0 390 0 390.000
160 | 1474862 5 KYPIOZ 13.66 341.5 1986 0 0 19 45 OXl 0 386.5 0 386.500
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161 | 1478408 1 KYPIOZ 14.81 370 2001 15 0 0 0 (0)( 0 385 0 385.000
162 1476647 2 KYPIOZ 11.18 279.5 2003 15 0 30 90 OXI 0 384.5 0 384.500
163 | 1481412 2 KYPIOZ 15.16 379 1993 0 0 0 0 OoxXl 0 379 0 379.000
164 | 1480640 2 KYPIOZ 12.54 313.5 2002 15 0 20 48 OXI 0 376.5 0 376.500
165 1488093 20 KYPIOZ 12.56 314 2000 0 24 60 OXl 0 374 0 374.000
166 | 1476625 23 KYPIOZ 13 325 1997 0 20 48 OXl 0 373 0 373.000
167 | 1478470 19 KYPIOZ 10 250 1993 0 0 36 120 OXI 0 370 0 370.000
168 | 1490000 2 KYPIOZ 14.09 352 2005 15 0 0 0 OXI 0 367 0 367.000
169 1484085 2 KYPIOZ 13 325 1996 0 0 16 36 OXI 0 361 0 361.000
170 | 1489184 4 KYPIOZ 12.81 320 2002 15 0 8 16 OXI 0 351 0 351.000
171 1482160 2 KYPIOZ 11 275 2002 15 0 24 60 OXI 0 350 0 350.000
172 1483572 1 KYPIOZ 13.36 334 2002 15 0 0 0 OXI 0 349 0 349.000
173 1489845 23 KYPIOZ 12.5 3125 1999 0 0 16 36 OXl 0 348.5 0 348.500
174 | 1479166 23 KYPIOZ 13.09 327 1995 0 0 6 12 OXIl 0 339 0 339.000
175 1484404 23 KYPIOZ 12.4 310 2002 15 0 0 0 OXIl 0 325 0 325.000
176 | 1480989 2 KYPIOZ 12.58 314.5 1988 0 0 0 0 OXIl 0 314.5 0 314.500
177 | 1478581 2 KYPIOZ 12 300 1994 0 0 0 0 OXIl 0 300 0 300.000
178 1484887 2 KYPIOZ 11 275 2005 15 0 0 0 OXIl 0 290 0 290.000
179 1482494 4 KYPIOZ 11.5 287.5 1992 0 0 0 0 OXI 0 287.5 0 287.500




